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(1400 Fourierd U U0 Fourier[]
O 0dddoooooogon
0000

godo, Fourter DO0OO, Fourter DO DO O00O0O, 00000000000, 00
00 ({@o0)0o0o0.000o0o0o0o0oooooo,0000ooo0ood
gobboogoo,ggggbooboobboubobon.

4.1 0O0OO0O

go.bbodbbogboooooobbogobob.3gbobbbooon
idbd«.00dduouboudbtl « 00o0guooboooog

u = u,t+u,j + u.k. (4.1)

000,44 k00000 2,9 2000000000000 u,, u,, v, 0000
02,y :000«0000000000000000000000000000
0000000000000000000000000000000

i-j=0, j-k=0, k-i=0, (4.2)
ii=i>=1, j-3=>=1, k-k=Ik*=1. (4.3)
(4.2)000000
e J0DO0O0OOODODOODOODOOD
00000000000, ((43)00000,
e J0DODOODODODOD 1000

gooooobod. 0 wu,, uwy, v, 0000000000000 00000 0
09, k000000000000 0O0O0OO0ODOO0OOO. 000 w0 e00
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0o,
uz:uhLzz—i—uy]z+uél<:z:utb|z|2
oooo
1 . . (4.4)
= —=U-1=1U"1%.
2]
00000 u, w0,
1 . ek 45)
Uy=——=u-J=u-3, u. =—u-k=u-k. .
ik k[

gugoob.buodgg,ggobubbooobbbidit«uoooooo,bgo
000000000 0000000000000 0C0D0ooooooO (0O
Ooooo+, j,k,00000000000)00000OO0O0O0OD. 00000
gogbobdobbbbodoobobobbodbodoob. bbobbobbooobd
0000000 « 000000 (D0000). 0000,00000000 w0
00000000 (000000)0,«000000 «000.0000000
U000 «000000000O0?00D00O0O0O00ODODODOOOODODO
goooogon.

4.2 FourierO OO OOOOO

0000 Fourier OO0 (21)00000 f()0 41)DDOOODODOOOODO
000000000000 000000 f(»)00000«w0000000'00
000 cos(kpx), sin(k,z), (n=0,1,2,... ,00)0 000000 ¢, 5, k, 00000
000 FourierOO a,, b, 000 u,,u,, v, OOO000. O0OO0D0OODOOODOO
O000d00oooooooooa.

oood -o0 ood
i, 7,k < cos(kyx), sin(k,z), (n=0,1,2,... ,00)
Upy Wy, Uy = Any by (Rn=10,1,2,... ,00)

1,2,3,... 000000000000. 0000000000000 OO0O0O000OO0O0O0O0
g.oooboob,0ogboooobooboobobooobooooooooooooooDbo
a.
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00 f(1)0 (41)00000000000000000,0000000000
000000, (42)000000000000000000000. 000,00
000000000000.00 f(2)000 ¢(x)00000 (f,g)000,

(4. 1) = / ¢ (#)f(x) de, (4.6)

—L

00000.000,+x00000000. 00, f(x)000000g¢(x)0000
0000000000.0000000000000000,7’000070000
00000000000, Fourder 0000000000000 O0O0O0O0DOOO
00.(46)0000000,000000000000

(sin(kmx), Cos(kn:r)> = /_LL sin(k,, ) cos(k,x)de =0, (4.7)

(m,n=20,1,2,... ,00).

L

(sin(kmx),sin(knx)> = / sin(k,, ) sin(k,z) de =0, (4.8)

—L

(m,n=0,1,2,... ,00. OO, m#n).

L

(Cos(km:):),cos(kn:r)> = / cos(kpx) cos(kpx)dx =0, (4.9)

J—L

(m,n=0,1,2,... ,00. OO, m#n).

(sin(knx),sin(knx)> = /LL sin’(k,) do = L, (4.10)

(n=1,2,...,00).

O00,sin(kx) 00000000000 (410000000 n=00000000
0.2

(Cos(knx), COS(k’n;L‘)> = /_i cos?(kpx)de = L, (4.11)

2k =000000, sin(ker) =0, 000 0 sin(kor) 000 (00)0000000000.
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(n=1,2,...,00).

00, cos(kpx) 00000 100000 (4.11) 00000 n=000000000
god.

L

(Cos(kox),cos(kox)> =(1,1)=/ dx = 2L. (4.12)
L
00000000 00oo0oo0oO0,00000o0oo00b00Md.)00 (4900
000000000000 00 (b0O000oDoooooooUOooooDOO4.2)
000)0o0000o000. 00 4.10)00 (412)00000000000000
oooob. booboooobbuoboouooboobo 1obo0bboo. oo
OO0 (0oo0)booo0ooooood.
00000000000000000000 f(») O (21)000000000O
oooOoooo0oO0.0oo0,00000 4)ooooooooooooOooo
gbooogoogbbooboaobon.

(sin(knx), f(x)) =b, (sin(k’nx),sin(knx)),

e ) L[ st

(n=1,2,...,00.)

((:os(kna:)./f(:lr)) = a, (Cos(k x), cos(k, T))

= iy = L

(n=1,2,...,00.)
n=0000,

(COS(]{fol’),f( )) (f, 1) = 5 (Cos(kox) COS(k’OZL‘)> = 6;—0(1,1),

0 = % _ % s, (4.15)
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00D0. (41500 (414)00000,»=0000000000000 (4.14) 0
D000D0000.0000000, Fowier 0000000 O Fourier 100 0
Doo0DO. ((22)0,(23)000))

000 (413)00 (4.15)00 (44)00 (45 0000000000000000
00.000,300000000000000,00000000000 (4.1)00
0000000000000, 0000000000000000000, Fourder
00000000000 000000000000000000000 (0000
D00D)0000000000D0000,0000.

0000000 FourierDO , 4y, 5,0 1/L00000000000,00000
D000D0000D000000 10000000000000000000
DD,DDMMD1QDDDDDDDDD(mqm@mm@ngn:Lzuwm)

DQmwwwmwwﬂmmmmmmmmQDDDDDDDDDDDDDDDDD
oooooo.

4.3 OO0

OD0000 Fourier DO OO0 ODODODOOODOOODOOODODOO,DOO00O0
gbhbooo,gboooooboboooboboobboboooooobo. g
g,bbbgdbobbdooooobboubobbboooooooog,bbo
gbodggbobbboboboobuooouooobbooo. gooaooo
gobooogo #exp(ikm)DDD(DDDDDDDDDDDDD)DDDDDD
Ubooool FourterDODOO0O. DODOOOOO0ODODOOOODOODOO
goboog,boboogobouogoguobuoooooo,booobgn.

googoobbobodgbooobo,bggoboooogooaoobon
O0000D. 0D00000b000b00oobDDog, BesselOO, 0000000
000000002 000,00000000000000000000000
goouboobodbbooobodog,gboobboobobobboon
gogbooogooboo. bbb, bbb ooobooobooo
gbooobbodgogoobboobbboboo,boa,bo,bbbooaodao
googggbbobbbbobobobobb,bbboboouoooboooo,goooo
0000000000000 000,00000000000.4

gb,ugudgouuoggbbobdobdobb,gbbbbuoobdodoogo
gogbbguoogb,gbboobobboodbiobibibl « 0000000

00000000000 Strum-Liowille00O0D0O000000000O0O00O0DOOODOOO
gogo,0opobodboobobboboobbooooboboboboooboboo.
‘0000,000000000000000.
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goooo,000obooodnoooog. gongoogooodo, o
gooddoooooooooooooooooooog. ogooooog, o
0 f(x) 0000000000000000 f(x) 000000000,0000
goooooooo,0oodooooooononooooooog,oog
000000000 oobobooobooooooo. oooo, Fourier
O0000 FourterOOOOO0ODOOODOOO? DOODODOOODODOOOO “O7,
sinkx, coskx,exp(ithkx) 00000000 DODOOO0DOOOODOOODODOOODO.



